Math 13-3 (10:30 am)—Fall, 2024 : Midterm 1 (45 minutes)
D.C. Smolarski, $.J. Friday, October 11, 2024

NOTES:

1. Make sure your NAME is on the front of the green book.

2. Problems can be written in the green book IN ANY ORDER, but please START

each problem on a NEW PAGE (EITHER side) and label it properly.

PLEASE label (or underline or ) all ANSWERS clearly.

4, There are 100 points possible on this test. The point value of each problenm
is listed in parentheses after the number,

5. Show your WORK -— partial credit is possible only when all work needed to

w

¥ pau‘ﬁf-*ﬂ" obtain an answer is presented legibly.
Scoves 6. NO CALCULATORS!
pev problem
Mlzz 1, (10) Find d_y if arcsiny = sinhz. The answer should be all in terms of z.
W ‘\2)3? v 2. (12) Find the area between the curve y = — sinh x4+ 3 and the z-axis between z = 1
HAR DEST and z = 1. Reduce the answer fully, i.e., eliminate from the answer any hyperbolic
trig functions.
2‘{[33 3. (12) Given the sequence 2/7, 4/8, 6/9, 8/10, ...,
(a) fiud an expression fur the general tetin a,.
(b) determine whether the sequence converges or not, and, if so, find its limit.
i9 / . > 4 L . .
33 4. (12) Determine whether Z o converges or diverges. If it converges, determine the
sum. =3
28,3 : = 1
“E&f{gE;T" 5. (12) Find the sum of RZ_;Z eI
533 6 (12) Create the Maclaurin polynomial of degree 2 for f(z) = sin® 3z.
t /32 7. (15) Create the Taylor polynomial of degree 2 for f(z) = 2ze* around the expansion
point a = 2.
\ ?/33 8. (15) The Maclaurin series for ¢* = 1+ 7 + 22/2! + 23/3! + -... Using this series,
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